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We write numbers in order on a line.
We call this a “number line”.

12/314)5/6/7/8/940

The number

is becoming @) Bigger number sits on the
bigger by 1. right side. 4 is on the right

side of 3. So, it is bigger
than 0O, 1, 2, 3.

i
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Some number lines start from the
middle of the number like 11.

16 is smaller than
19 by 3.

15 is bigger than
13 by 2.
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Let’s draw a number line.
Write number line start from 0 to 10.
1) Draw a long arrow.
>
2) Draw vertical lines on the left end and next to it with a
small space. The length between the two lines is one unit.
| >
3) Write 0 and 1 on the two lines.
| >
4) Draw 9 vertical lines on the right of 1. The length between
the vertical lines must be the same.
I A I A N A A A R >
5) Write 2, 3, 4 on the vertical lines. The numbers on the
right is bigger than the numbers on the left.
11 >
6) Next, write 5, 6, 7, 8, 9, 10, and a number line is ready.
I R R R R N R I >
N @Gmau
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Example | Write a correct number in
0) 1 C] 3 4 5 6 7 8 9 10
1 ] ]y
~ Good/
o 1 ,Z_J 3 4 5] 6 7 8 9 10
\I | 1 [ 1 [ 1 | \),/
Exercise | Write a correct number in .

0) 1 2 3 4 5 6 I I 8 9 10
o1 1 1 1 | | I N
o 1 2 3 Q 5 6 7 8 9 10
R N I I N T
11 12 13 14 15 16 17 18| |20
o1 1 1 1 1 1 | | Ly

11 12 13 14[316 17 18 19 20
@ __1 1 1 | S S N N

11 l l 13 14 15 16 17 18 19 20
©__| NN N N N S N
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Exercise | Write a correct number in

@@QQQQ
Q s 0 7 8 9 s
u@w@w@w@w@
C]1 18 16 17 18 19 20

® I >

6
| [

o 1 2 3 4 5[37 8@10
o _1 1 1 [ | | [y
11 Q 13 14 Qm 17 18 19 20
@ __| || N S N
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Example

2 345 6 7 8
T S )

\-

Write a correct number in
think it using number line.

. If you don’t know the answer,

/

1) D is 2 more than 5. |$ l)l 7 I is 2 more than 5.

2 34567 8
N N N

Exercise

1) D is 5 more than 3.

Write a correct number in
think it using number line.

. If you don’t know the answer,

Z)C] is 2 more than 7.

:

N
el

4 5 6 7 8 9 10
| | | | | | |

N
el

3) D is 3 more than 8.

4) D is 4 more than 10.

11 12 5 6 7 8 9 10 11 12 13 14 15
LI [ LT T
5) D is 5 more than 12. 6)D is 6 more than 11.

7 8 91011121314151|61718

N
el

56 7 8 910111213141516 171819
IIIIIIIIIIIIIII>

7) D is 3 more than 14.

8) D is 4 more than 9.

17 18

N
7

4 5 6 7 8 9 10 11 12 13 14
AN [ IS [ S A N X

7

9) D is 2 more than 15. 10) D is 6 more than 8.

17 18

N
el

12345678 9101112131415
IIIIIIIIIIIII>

\

Good/
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Example

Write the answer in the . If you don’t know the answer,

think it using number line.

1) D is 2 less than 5. |$ l)l 5 I is 2 less than 5.

2 3456 7 8 2 3456 7 8

D Good/

Exercise . If you don’t know the answer,
think it using number line.

1) D is 5 less than 9. 2) D is 2 less than 6.

345678910111|21|31|415 3 4 5 6 7 8 ?

Write the answer in the

N
el

LS I N N N B
3) D is 3 less than 7.

4) D is 4 less than 15.

10 11
| |

~
7

10 11 12 13 14 15 16 17 18 19 20
AN [ Y I [ [N I A

5) D is 5 less than 14.

6) D is 6 less than 10.

8 91011 12131415 161718 19 20 3456 7 8 91011121314 151617
| 1 IS AN I S I T O O K
T rl
19 20 7 8 9 10 11 12 13 14 15 16 17
| LS I N N I A N I N E
rd rd
9) D is 2 |ess than 11. 10)D is 6 IeSS than 13.
8 9 10 11 12

13 14 6 7 8 9 1011121314 151617 1819 20
l l A N Y A B K'Y

N
el el 7
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Example

Write the answer in the

. If you don’t know the answer,

think it using number line.

1) 7is D more than 3. |$ 1)7is 4_ more tha

t 37

56 7 8

\-

L1y

n 3.

%.T) 56 7 8

4
A R

Exercise

Write the answer in the

think it using number line.

1)9is D more than 5.

0
[

. If you don’t know the answer,

2)8is D more than 6.

8

9
|1 1 1 1 1 1 |

4 5 6 7

N
el

8 9 10
| | | |

N
el

3)10is D more than 8. 4)14 is Dmore than 11.

~
7

8 9

7 10 11 12 13 14 15
L1 1 1 1 1 1 1 1

6 7

~

5)16is D more than 12. 6) 19 is D more than 13.

.

? ? l|0 1|1 1|2 1|3 1|4 1|5 16 17 18

S |
el

; T ? €|a1|o 1|1 1|2 1|3 141516 17 18 19

10 11

12

N
el

7) 15 isD more than 10.  8) 11is Dmore than 7.

13 14 15 16 17 18

| | | | | LS |
7

C;

Good/

\

—

? 1|0 1|1 1|2 13 14

12

5

~

7

3 4
| |

E|5 7I ? ?1|01|112131415

S |
e

? ? 1|0 1|1 12 131415

IS
>
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Example

Write the answer in the

. If you don’t know the answer,

think it using number line.

1) 3is D less than 7. |$ )3 |s| /Iless than 7.

\

'>

think it using number line.

1)4is D less than 6.

C;

Good/

2 3 45 6 7 8 2 3 456 7
N N S R I . N I N I
\\§
Exercise | Write the answer in the . If you don’t know the answer,

2)5is D less than 9.

(0] 1 2 3 4 5 6 7 8 9 4 5 6 7 8 9 10
N N S R S S N S P | | | | | | [
L L
3)4is C]Iess than 9. 4)10is C]Iess than 12.
4 5 6 7 8 9 10 11 12 5 6 7 8 9 10 11 12 13 14 15
| | | | | | | | I) L 1 1 1 11 11 LS
7

5) 13 isD less than 16.

6) 13 is D less than 17.

6 7 8 9 10 11 12 13 14 15 16 17 18

A I S Y I Y I £
7

56 7 8 910111213141516 171819
IIIIIIIIIIIIIII>

7) 11 isD less than 18.

8)6is D less than 13.

1|0 1|1 1|2 1|3 1|4 1|5 1|6 1|7 1|8

N
7

4 5 6 7 8 9 10 11 12 13 14
AN [ IS [ S A N X

9)5 isD less than 12.

10) 3 is C]Iess than 15.

8 9101112131415
L L 1 1 | LS
e

8 9101112131415
[l LS
el




T11_502

-

How many onions are there?

\
@Gwd/!

When we add 1 to 10,
itis 11. So, if we add
1to 20, isit217?




T D

Then, let’s look at how to write larger numbers than 20 .

—

2 O 2 1 We put a @ below|§|
X @ X

We can write in the same way with bigger numbers.

N
N

=~
22 3| 124 5
o o o

EE

When the number of @

N
o)

X
X
[

X

RRRRRRREN
HERNRRREN
RRNERRREN
HERRRRREN
RRRRRRREN
[TTTTTTTT
[TTTTTTTT]
HERERRREN

increases one by one, the

number below |§|changes

X

ol
N

ENRARNNEN
[T

LD
ENNARNREN

into 2, 3,4,5,6,7,8,9.

X
Ll | @ 00 RN
| X N

[LLILTTIT
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Let’s look at how to read 21. Do you remember how to read 20 and 1?

—]

20 1

twenty one

twenty one

21

IP_ -
20 1

twenty one

So, we can read

twenty and one.

We read numbers from 22 in the same way.

—

22 23
2 2

twenty two-  twenty thwee

3

twenly  two- twenty thuwee
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Check how to write and read the numbers below.

Count the @ and write the number in

.@ x'o[2'_5]

1 Jtwenty ||| 2 twenty five
_x_ o [2'_1-] X | @

1 twentyone ||| o | twenty six
L twentytwo ||| | twenty seven
=

g twenty thiwee twenty eight

28 [t 29

7 twenty four twenty nine

[0
LI
.

- /

Let’s read aloud the “numbers” shown above one by one.
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Example | Write the numbers and words.
Trace grey letters and copy them in the boxes.
<1120 7112020
HH twenty|twenty| |2 - twentytwenty
N\ 4
Exercise | Write the numbers and words. gé GOOd/’

X

=120

[RENERRRR
[ENENERN

>
&
0
&

twenly one | twenly one
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Exercise | Write the numbers and words.

X @ ) ©)
— ;Z\,’/:/_I’LJ Cjé{?

twenty two-

No
W
N

twenty thuee

[NENNNRN|

twenty four




Exercise

T11_5S02

Write the numbers and words.

X

i%

hd o
L= =

]

tW(’/VLty f(/\/e/

twe/m,ty fi'/\/e/

e 7>
& {Z_’?

twenty six

twenty sevevv
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Exercise | Write the numbers and words.

X

® a W)
— 2 8 /j; S

NRRREN,
AERRRRRRN
LD

0
5
:

twenty eight

No
o

[
[T
A

>
&
:

twerlly nine







Check how to write and read the numbers below.
Countthe [ [} and write the numb

5
:
3
I\

o
RRRRERRNAN \
LI | [NNRRRRRRR
[ARNRNRANR AARARNNN
m | @ o @

;
:
=
:

4Ly
g

]
NARRNRRAN
NERRNARAN
LD (@
g
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Example | Write the numbers and words

Trace grey letters and copy them in the boxes. /

X

=

RERRRRRNN

INRRRRRRRN
RERNRRRNEN

thirty | thirty

‘3030

thirty [thirty

[EERNERRNN

INRRRRRRRR
(LT

.

Exercise | Write the numbers and words.

(P Goows

%%‘ 30| 5(

thirvty thivty

RRRRRRRARR
LD | X
NAANRRRRAR

o




cise | Write the numbers and words.

thirty two-

thivty two-

thivty thuwee

thivty four




thivty five

thirty sevesv




thirty nine




-

Let’s look at how to write larger numbers than 39.

—

39

40

i

%

It becomes 40 by adding

% in the of 39.




e

Check how to write and read the numbers below.

Count the @ and write the number in
o

forty

U

§ 8

8

<
g
S

o
O

.P
£~

Let’s read aloud the “numbers” shown above one by one
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Example

Write the numbers and words

Trace grey letters and copy them in the boxes. /

X

40

i

X

y 4040

forty

.

forty

i

forty

Exercise

Write the numbers and words.

5@3 oo

X

40

forty

LA




Exercise | Write the numbers and words.

11_S02

(L2

i

forty two-

forty two-

< e[ [3

i 5

forty thwee

forty thuwee

b

TP

forty four

forty fowr




i

forty five | forty five
T

forty sixv forty six
2

forty sevenw | forty severv




Exercise

Write the numbers and words.

11_S02

X e

il

L8

forty eight

forty eight

43




-

Let’s look at how to write larger numbers than 49.

—

49

50

%

I

|




e

Check how to write and read the numbers below.

Count the @ and write the number in
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Example | Write the numbers and words.
Trace grey letters and copy them in the boxes.
| BOE0. (5050
HH9H % ﬁ’/ﬁ'y ﬁ/f(/—y HHAHH % ﬁ/fi-
N\
Exercise | Write the numbers and words. @ GOOd/’
T o 5 0
fifty fifty
54
% EEE % o




T
e

fifty two- —
==
e

oty wee | Fity e
Bk ]S

fy four | il fouur




. [BEE
1
iy fve | ity five
19615
i
ﬁ:ﬂ_ym ﬁ/ﬁ_ym
Gty sovery | fifty seven




Exercise

Write the numbers and words.

T11_S02

K

-

[rm——l Y
I
; . o)
) |
a8 | 9 a
b JEL >

fifty eight

ﬁ'ffy%g}w

59 5

ﬁ:ﬂ-)/mm

fifty nine
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Let’s look at how to write larger numbers than 59.

2 o It becomes 60 by adding
e 5 9 6 O in the [X] of 59.
X [ J

T |

I
I
|
I
I
e
WL
I
LI
LTI
LI
LTI
LU
(LT
|
]
I
i
!
LD
(RERNRRRRRN
I
I
!
i
I
L | @




/

Check how to write and read the numbers below.

\_

Count the @ and write the number in

8
&

Let’s read aloud the “numbers” shown above one by one.
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(Example

Write the numbers and words.

- 160

Trace grey letters and copy them in the boxes. /

160160

T oo |

Exercise | Write the numbers and

words.

160

sixty

1671

sixty one
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Exercise | Write the numbers and words.

62 52

i-;i :

sixty two-

sixty two-

65

sixty thuee

sixty thwee

6L

sixty fouwr

sixty four
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Exercise | Write the numbers and words.

65

j——:—j %

sty five

sixty five

- 1 66

3*?‘3 :

sty sin

STy $ix

67

jzz;j a

sixly sevewv

sixly sevewv




Exercise | Write the numbers and words.

11_S02

68

::2:3 3

sixty eight

sixly eight

63

sixty nine

sixty nine
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Let’s look at the numbers we’ve learnt so far.

Do you find any patterns?

The number increases by one

when we look at it horizontally.

LERIEN

10 11 12 13 14 15 16 17 18 19

20 | 21 22 23 24 | 25 26 27 28 29

30 [ 31 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39

40 | 41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49

50 | 51 52 | 53 | 54 | 55 | 56 | 57 | 58 | 59

60 | 61 62 | 63 | 64 | 65 | 66 | 67 | 68 | 69

70 | 71 72 | 73 | 74 | 75 | 76 | 77 | 78 | 79

The number increases by ten

:I when we look at it vertically.
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Example| Fill in the missing number. @ Good
o | 1 2 | 3 o | 1 2 | 3 ';?9
= A
10 | 11 13 10 | 11 |[1.2]| 13
o 4
Exercise | Fill in the missing numbers.

®

0 1 2 3 4 6 7 8 9

10 | 11 13 | 14 | 15 | 16 18 | 19

@ ©)

0 1 2 3 4 5 11 | 12 14

10 13 | 14 | 15 21 | 22 24

20 | 21 | 22 | 28 | 24 | 25 31 | 82 34

30 | 81 | 382 34 | 35 41 | 42 44

40 | 41 | 42 44 | 45 51 | 52 54
61 | 62 64
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Exercise | Fill in the missing numbers.
@ ®
3 4 5 6 7 22 23 24 25 26
13 14 15 16 17 32 34 35 36
23 26 27 42 44 45 46
33 | 34 | 35 | 36 | 37 52 54 56
43 44 45 46 47 62 64 66
53 54 57 72 73 74 75 76
63 64 65 66 67
73 76 77

®

40 | 41 | 42 | 43 | 44 | 45 | 46 49
50 51 52 55 56 57 59
60 | 61 62 | 63 | 64 | 65 | 66 | 67 69
70 71 74 75 79
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Exercise |Fill in the missing numbers.

79

Let’s read the them aloud one by one from 0
after you have filled in the missing numbers.
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Example| Draw O on the bigger number.

26 31 26 31
The bigger number is 26 31 E> The bigger number is 26@

: Do
Exercise | Draw O on the bigger number. Good/
@ @

27 28 44 38
The bigger number is 27 28 The bigger number is 44 38
@ ______________________________________________________ @ _______________________________________________________
51 43 29 35
The bigger number is 51 43 The bigger number is 29 35
@ ______________________________________________________ @ _______________________________________________________
72 54 66 70
The bigger number is 72 54 The bigger number is 66 70
@ ______________________________________________________ _______________________________________________________

The bigger number is 37 25 The bigger number is 63 46




Exercise

62

The bigger number is

Draw O on the bigger number.

50

T11_S05

The bigger number is

The bigger number is

The bigger number is
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Example| Draw O on the smaller number.

23 31 23 31

The smaller number is 23 31 E:> The smaller number is 23 31_‘

N\ _
Exercise | Draw O on the smaller number. Good/
@® @

25 26 34 28
The smaller number is 25 26 The smaller number is 34 28
@ ______________________________________________________ @ _______________________________________________________
61 56 39 45
The smaller number is 61 56 The smaller number is 39 45
@ ______________________________________________________ @ _______________________________________________________
52 48 /76 /0
The smaller number is 52 48 The smaller number is 76 70
@ ______________________________________________________ _______________________________________________________

The smaller number is 34 28 The smaller number is 56 49




Exercise

66

The smaller number is

Draw O on the smaller number.

40

T11_S05

The smaller number is

The smaller number is

The smaller number is
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Example| Fill in the missing number.
21 22 Q 24 25 26 27 28 29 30
| | I I | I | | >
o §@p aoon
21 22 23 24 25 26 27 28 29 30
I | | | | I | I | I
- > J
Exercise | Fill in the missing number.
31 32 33 34 35 36 Q 38 39 40
@ I | | I | I I | Ly
51 52 53 Q 55 56 57 58 59 60
@ I | | | I | I | I >
41 42 43 44 45 46 47 48 Q 50
® I | | I | I | I Ly
60 61 62 63 C] 65 66 67 68 69
@ I | | I I | I | I >
70 Q 72 73 74 75 76 77 78 79
® __ | | I | I | I




T11_S05

Exercise | Fill in the missing number.
24 25 26 27 28 29 30 Q 32 33

® 1 | | I | I | | I >
57 58 Q 60 61 62 63 64 65 66

o N N N S R B
32 33 34 35 36 37 Q 39 40 41

| | | I | I I | L3

Q 68 69 70 71 72 73 74 75 76

©) | | I | I | I | I >
27 28 29 Q 31 32 Q 3 35 36

I | | | I I | L3
52 53 54 55 56 Q 58 59 [3 61

®_ | | | I | | I | I >
37 Q 39 40 Q 42 43 44 45 46

@__ | | I I | I | Ly
63 64 65 Q 67 68 69 70 Q 72

®_ | 1 | I I

52
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Let’s look at how we write a number line
for big numbers.

0 10 20 30 40

Lyt bt bt byvoa g s

{ 4 There are many vertical lines.

There are only 0, 10, 20, 30, 40 on the number line. F

What is the number indicated by | ?
Fill in the missing number.

OC] 10 20 Q 30 40

L [

NEREEEEEEREENEN
-

30 40

|||||I|||||||||I||||||||| NERENEEREREENEN
-

—— /@ — @/@ — N

The vertical lines with numbers and the lines which show
5, 15, 25, 35 are a bit longer than the others. You can easily
find out the answer by counting from these numbers.

S/
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Example| Fill in the missing number.

OC] 10 20 @ 30 40

||\||I|||||||||I||||||||||||||||||I|||||:

2 P @
/ Good/ Good/

30 40
\|||||I|||||||||I||||||||||||||||||I|||||\ )

Exercise | Fill in the missing number.

10 0 30@ 0 50

@ L b b b b b ||||I||||L

0 10 20 30 40

Ly b by b bt bt s

@

5 2I Q 40 50 60

10 C]0 30 OQSO

I Y | I
@ ||||I|||||||||||||||||||||||||I|||\

® Ly Vit ||||||||I|||||)
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Example

Fill in the missing number. If you don’t know the answer,
think it using number line.

1) D is 2 more than 25. |$ 1) is 2 more than 25.

222324252627 28
N R N N

\-

222324 2526 27 28
N N N

S

Exercise

1) D is 5 more than 23.

Fill in the missing number. If you don’t know the answer,
think it using number line.

Good/!

17 18 19 20 21 22 23 24 25 26 27 28 29
A I [ I I

7

Z)C] is 2 more than 36.
33 34 35 36 37 38

39
I I I I I I LS

7

3) D is 3 more than 51.

4) D is 4 more than 60.

47 48 49 50 51 52 53 54 55
| | | | | | | | LS

7z

5|5 5|6 5|7 5|8 5|9 6|O 6|1 6|2 6|3 64 65

~
7

5) D is 5 more than 72.

6) D is 6 more than 42.

66 67 68 69 70 71 72 73 74 75 76 77 78
I I I >

3536 37 38 39 40 41 4|2 4|3 4|4 4|5 4|6 47 48 49
~
>

7) D is 3 more than 28.

8) D is 4 more than 38.

2|4 2|5 2|6 2|7 2|8 2|9 3|0 3|1 3|2

N
7

3I3 3|4 3|5 3|6 3I7 3|8 3|9 4IO 4I1 4|2 43

~
7

9) D is 2 more than 77.

10)C] is 6 more than 67.

7|4 7|5 7|6 7|7 7|8 7|9 8|0

N
el

60 61 62 63 64 65 66 67 6869 70 71 72 73 74
N N S Ay >
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1) D is 5 less than 27.

think it using number line.

Z)C] is 2 less than 45.

21 22 23 24 25 26 27 28 29 30 31 32 33 42 43 44 45 48
L1 TS | | | | | | L
P L
3) D is 3 less than 64. 4) D is 4 less than 38.
60 61 62 63 64 65 66 67 68 33 34 35 36 37 38 39 40 41 42 43
| LS [ [ R I N I N N
U 7
5) D is 5 less than 53. 6) D is 6 less than 70.
47 48 49 50 51 52 53 54 55 56 5|7 58 59 63 64 65 66 67 68 6|9 7|0 7|1 7|2 7|3 7|4 75 7|6 7|7
~ ~
L L

7) D is 3 less than 32.

8) D is 4 less than 61.

2|8 2|9 3|0 3|1 3|2 3|3 3|4 3|5 3|6

N
7

56 57 58 59 60 61 62 63 6|4 6|5 66
~
>

9) D is 2 less than 40.

10)D is 6 less than 52.

3|7 3|8 3|9 4|0 4|l 4|2 4|3

N
el

45 46 47 48 49 50 51 52 53 54 55 56 57 58 59
[l l I>

4 I
Example | Fill in the missing number. If you don’t know the answer,
think it using number line. /
1) D is 2 less than 25. |$ 1) |2 3' is 2 less than 25.
22 2324 2526 27 28 22 23 24 25 26 27 28
N I S T N N
- J
: Good/
Exercise | Fill in the missing number. If you don’t know the answer,
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4 I
Example | Fill in the missing number. If you don’t know the answer,
think it using number line.

1) 37is D more than 34. |$ 1) 37 isl 5 I more than 34.

33 34 35 36 37 38 39 33 34 35 36 37 38 39 @
|

N I S N — N I S S N —
\- J

Good/!

Exercise | Fill in the missing number. If you don’t know the answer,
think it using number line.

1) 46 is D more than 42. 2)26is D more than 24.

41 42 43 44 45 46 47 48 49 50 51 23 24 25 26 27 28 29
I T T M O IR A S DO S M 1
7z 7

3)50is D more than 48. 4) 74 is D more than 71.
47 48 49 50 51 52 53 70 71 72 73 74 75 76 77 78
R N T N N R T N T N M O
. e

5) 58 is D more than 54. 6) 48 is D more than 42.
53 54 55 56 57 58 59 60 61 62 63 43 44 45 46 47 48 49 50 51 52 53
T T D O M M I T M T M Y 1
7z 7z

7) 67 is D more than 62. 8)35is D more than 31.
62 63 64 65 66 67 68 69 70 30 31 32 33 34 35 36 37 38 39 40
I A MY M Y M N P L 1 1T T 1T T T3 1708

7 e

9)62is D more than 57.  10) 43 is D more than 37.

55 56 57 58 59 60 61 62 63 64 65 66 67 68 69 36 37 38 39 40 41 42 43 4445 46 47 48 49 50
[ | | I> IIIIIIIIIIIIIII>
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Example

think it using number line.

1) 36is D less than 39. |$ 1) 36is I 5 /Iless than 39.

Fill in the missing number. If you don’t know the answer,

\

33 34 35 36 37 38 39 33 34 35 36 37 38 39
[ 1 [ [ | l) [ 1 | 1 l)
. J
Exercise | Fill in the missing number. If you don’t know the answer, G "

think it using number line.

1) 46 is D less than 42.

2)26is D less than 24.

2|8 2|9 3|0 3|1 3|2 3|3 3|4

N
el

5|0 5|1 5|2 5|3 5|4 5|5 5|6 5|7 5|8

N
el

3)50is D less than 48.

4) 74 is D less than 71.

58 59 60 61 62 63 64 65 66 67 68
L1 1 1 1 1 1 1 1 I>

17 18 19 20 21 22 23
| | | | | | IS

.

5) 58 is D less than 54.

6) 48 is D less than 42.

66 67 68 69 70 71 72 73 74 75 76
I I I N I>

7) 67 is D less than 62.

8)35is D less than 31.

1112 1314 1516 17 1819 20 21 22 23 24 25
A Y Y O K

40 41 42 43 44 45 46 47 48 49 50 51 52 53 54
A ) I I O G

9)62is D less than 57.

10) 43 is D less than 37.

49 50 51 52 53 54 55 56 57 58 59 60 61 62 63
[ 1| | [ 1 1 | EN

24 25 26 27 28 29 30 31 32 33 34
A I I I I>
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gl 4 What is the answer for the question?

The number which is made of 3 is D

g'r

L

%
D e
=

2

~

A2 L= /
~

~

The number which is made of 3

% consists of 10 &7

- ﬁ One % means that there is a set of 10.

..f‘>“ V
2 o)
A L=

\-

The number which is made of 3

Oy

e,
Good/

We can easily find out the number
with the figure.
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Example

Write the answer in the

The number which is made of 3

is

~

Exercise

1) The number which is made of 2

2) The number which is made of 4

3) The number which is made of 5

4) The number which is made of 6

5) The number which is made of 7

Write the answer in the

ey Ly (LT

HENRRRREN

NERRRRREN

is

is
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N
Example| Write the answer in the
The number which is made of 3| 10
% @ Good/!
J
Exercise | Write the answer in the
1) The number which is made of 2| 10 |is
_ I\
2) The number which is made of 6| 10 |is
~ I\
( N\
3) The number which is made of 4| 10 |is
—
S
4) The number which is made of 7| 10 |is
—
)
5) The number which is made of 3| 10 |is
—
)
6) The number which is made of 5| 10 |is




\

” What is the answer for the question?

Write the answer in the

Vo D
3

The number which is made of 2= and 5 7 is

(4

= J

~
J

The number which is made of 2 — and 5 &7 is

_—

The picture shows that there D D
are 2 sets below and 5
beIow@.

X @

IF
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Example

Write the answer in the

B

The number which is made of 2

NERRNNRRN

and 5 7 is 25 .

Exercise

1) The number which is made of 2

2) The number which is made of 4

3) The number which is made of 5

4) The number which is made of 7

5) The number which is made of 3

Write the answer in the

[[TTITTTT]

[[TTITTTT]

and 5 7 is

and 77 is

and 1= is

and 677 is

and 3 is




Exercise

N——

1) The number which is made of 1

2) The number which is made of 2

3) The number which is made of 3

4) The number which is made of 5

5) The number which is made of 2

6) The number which is made of 4

7) The number which is made of 3

8) The number which is made of 2

Write the answer in the

(LT (LT (LT

and 9 (7 i

and 4 7 i

and 8 (7 i

and 3 = i

and 7 7 i

and 4 7 i

and 9 7 i

and 0 7 i

T11_S05
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Example| Write the answer in the

The number which is made of 2

10

and 5

o=

S )

Exercise | Write the answer in the

1) The number which is made of 3

2) The number which is made of 4

3) The number which is made of 5

4) The number which is made of 6

5) The number which is made of 2

6) The number which is made of 3

10

and 7

10

10

and 4

10

and 3

10

and 8

10

and 0
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Z What is the answer for the question?

Write the answer in the D )

The number which is made of D is 30.

o

~

~

N
The number which is made of D is 30.
30 consists of 30 7.
L~
#.
One % means that there is 10 . a8 lam)
-
J
$ N

@ Good/

We can easily find out the number
with the figure.
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4 )

Example| Write the answer in the : /
Good/

The number which is made of 5 is 30.

Exercise | Write the answer in the

S

1) The number which is made of is 20.
—
S

2) The number which is made of is 50.
—
—\ -

3) The number which is made of — is 40.
—
—\ -

4) The number which is made of — is 10.
—

5) The number which is made of ; is 70.




T11_S05

4 )

Example| Write the answer in the ) 0

The number which is made ofl 3 l 10 |is 30.
3 i Good/!

e J

Exercise | Write the answer in the

1) The number which is made ofD 10 |is 60.

%

10 |is 40.

2) The number which is made of

S

3) The number which is made of 10 |is 20.
"/
)

4) The number which is made of 10 |is 50.
"/
E—

5) The number which is made of 10 |is 70.
"/
)

6) The number which is made of 10 |is 10.
"/



T11_S05

What is the answer for the question?

Write the answer in the

\

~

The number which is made of

The number which is made of[j

The picture shows that there are 2 sets below =

[x]and 5 7 below[@). . 4

The number which is made ofl I andl \ (= is 25.

Good/!
/

4 We can write the other numbers in the same way.
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N
Example| Write the answer in the : @ Good/
/ A/
The number which is made ofl I andl 5 \ 7 is 25.
J
Exercise | Write the answer in the .
1) The number which is made of D — and D Tis 37
2) The number which is made of D — and D is 29
S g S
3) The number which is made of — and s 51.
— —
E— g E—
4) The number which is made of — and s 48.
—J —
E— g E—
5) The number which is made of — and is 63.
—J —




Exercise | Write the answer in the

6) The number which is made of

7) The number which is made of

8) The number which is made of

9) The number which is made of

10) The number which is made of

11) The number which is made of

12) The number which is made of

13) The number which is made of

and

and

and

and

and

and

and

and

T11_S05

s 28.

s 59.

&is 33.

Dis 40.

7 is 23.

7 is 69.

= is 62.

(7 is 55.
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/>

Example| Write the answer in the

The number which is made of

@@X

|
s

Good/

Exercise | Write the answer in the

1) The number which is made ofD 10 andD 1 |is 56.
E 5
2) The number which is made ofD 10 andD 1 |is 28.
=)

S E S

3) The number which is made of 10 |and 1 lis43.
— —

4) The number which is made of 10 |and 1 |is6l.
R —
) )

5) The number which is made of 10 |and 1 |is 55.
~— —
S S

6) The number which is made of 10 |and 1 |is79.
— —
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/
Let’s subtract big numbers.

Y
g 57| - [30

57 is a number of 5 sets below and 737 belowlil .

L/
o/ — |30

i

LI [ ]
EERRRRNNEN
EENNEEEEEE
ENNNEEEERE

NN NEREE

30 is a number of 3

beIow.

NN
NN
[ARRNERENE

e, -

.

.
L] .
EETTTTE L

X

[NNRRRRREN
[(NNRRRRRR|

We get 27 by subtracting 3 from
the 5 of 57.
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o/ | —

Example | Write the answer in the

30| - (27 €)oo

-l“

Wy Wy

\\

Exercise| Write the answer in the

10




T12_S06

Exercise | Write the answer in the

[ ) X [ ] )
> >
j.,_@ A jf .,@ L
subtract ) subtract y
@28—20=| |@63—30=| I

[ ) [ )

@ > ; P

one® M
subtract ) U subtra i )




Exercise | Write the answer in the

@19—10=[ ]47—40:[_]

-----

ay
tttttttt

o Y S Gl
[ ] ) X ®
P i e
subtratt "+t subtroe "
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Example

Write the answer in the

@I &

39 |- [20 oots
Exercise | Write the answer in the
o[45]-[30]=( | e[3a]-[20]=[
o[64]-[20]=( | e[66]—-[50]=[
s[26]-[T0]=( | ¢[72]-[30]=[
o[78]-[T0]=( | e[63]-[20]=[
o[71]—[40]=( | o[G6]—[40]=(
o[69]-[10)=( | «[68]-[40]=[
s[75]-[50]=( | «[@7]-[10]=(
s6a]—[To)=( | «[77]-[20)=[
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\
Let’s look at how to write the number 1 more than 99. The number of (7
increases by 1 below
9 9 the |§| of 99.
X o
J
The number of (=) below [@]becomes 10. We move the
set below.
— |
X [
A99494a4g The number of
%f%E%g % increases by 1
- . set below .
~

4 The number of

=
% below becomes 10, so we make a new place of @ .

O

100 is a number which

L below |§|

There is nothing below

and E , so they are

has
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/

100

hundred

\—Lis/read 100.

101

hundrved one

hundred one

It is easy because it’s

100 and 1.

The numbers from 102 increases by one.

102

, hundred two- hundred three

103

1ooi - 1ooi i3|

hundred two- hundred thwee| &
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Check how to write and read the numbers below. )
Count the @ and write the numberin .
O X o l 100 I
hwndred
O X e liOil
hundred one
=
= ) 4102
. hundred two-
O " *1403
= hundred thwee
O X e lio 4-]
@ hundred four
O X e |105|
% hundred five
J

Let’s read aloud the “number” shown above one by one.



T13_S02

~
Check how to write and read the numbers below.
Count the @ and write the numberin
O X [ I 10 6'
| hundred six
= i 407
% hundred sever
O X [ l 108 I
% hundred, eight
O X o lio 3 I
% hwndred nine
% hundred ten
J

Let’s read aloud the “number” shown above one by one.
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Check how to write and read the numbers below. )
Count the @ and write the number in
O X o 111
% - hwndred eleverv
O X e Iiizl
% 9 hundred twelve
O X [ liisl
% = hundred thivteer
O X @ [114.
% @ hundred fouwrteen
O X [ ] 115
J

Let’s read aloud the “number” shown above one by one.



T13_S02

Check how to write and read the numbers below. )
Count the @ and write the numberin
O X o Iii 6'
O X L) |117|
% % hundred seventeen
O X o |118|
O X e liig I
: x 1420
% % hundred twenty
J

Let’s read aloud the “number” shown above one by one.



T13_S02

Ve

Example | Write how to read the numbersin [ ). @ Goodd
100 [Mwaed/ % ]
101 [Mwwlred/crne/ ]
\ )
Exercise | Write how to read the numbers in

100 |

101 |[

102 |

103 |

104 |

105 |

106 |

107 |

108 |

109 |




Exercise

Write how to read the numbers in

T13_S02

110

111

112

113

114

115

116

117

118

119

120




J
Good/

mple

ERARRRRRN}
T
ERnnnRnnny|
O
O
(T

i
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\

Let’s memorize the names of the place.

O X ®
We read them as follows.

@ stands for the set of 1, The place below Iilis the ones place.

X stands for the set of 10, and | The place belowis the tens place.

Ostands for the set of 100. The place below@is the hundreds place.

L

J
N

N

We use the initials of them to show the place instead of @, X, O.

g

We can easily find out what do the “h, t, u” mean if we memorize their names.

~/




[B21143A

If we look at it horizontally, the numbers on the right is from

0to 9. If we look at it vertically, the numbers are the same.

T13_S03

horizontal

0

10

11

12

13

14

15

16

17

20

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48

49

50

51

52

53

54

55

56

57

58

59

60

61

62

63

64

65

66

67

68

69

70

71

72

73

74

75

76

77

78

79

80

31

82

83

34

85

86

87

88

89

90

91

92

93

94

95

96

97

98

99

100

101

102

103

104

105

106

107

108

109

110

111

112

113

114

115

116

117

118

119

120
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(¢ N\
Example| Fill in the missing number. @ Good/!
60 | 61 | 62 | 63 :> 60 | 61 | 62 | 63 /
70 | 71 73 70 | 71 72 73
- J
Exercise | Fill in the missing numbers.
@
80 | 81 82 83 84 86 | 87 88 89
90 | 91 93 94 | 95 | 96 o8 99
@ I Q
70 | 71 | 72 | 78 | 74 |i| 51 | B2 54
80 83 | 84 |i| 61| 62 64
90 91 92 93 94 i 71 72 74
100 | 101 102 104 i 81 82 84
110 | 111 112 114 i 91 92 94
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Exercise |Fill in the missing numbers.

79

89

99

87

97

76

86

96

75

85

95

74

94

73

93

72

82

92

102 (103|104 |105|106 | 107 (108 | 109

©o | o|o| o] o]

w | ©|~|o|o |2

w | v | 8

v | © | ~ e

¢ | | ¢ | ¢ | | 3

w| o |~|o|o|°

®

®

0 =

YRR R
olele|lr|o|o]|2

© | ©o| 0| oo © | ©

N |® ||| o0 ® | O

0 | © L | 1 10

N | o o | © ®

< | < | ¢ | | ¢

N | ® w | © | ~| ®
9@ ||l |o|lo|o|lo| o

N || |wWw]|]O0|RKR|0| o0

71

81

91

70

80

90

100 | 101
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Exercise |Fill in the missing numbers.
(o) 1 2 3 4 5
1151116 (117|118 | 119
120

Let’s read the them aloud one by one from 0
after you have filled in the missing numbers.
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e )
Example| Draw O on the larger number.
66 71 66 /1
The larger number is 66 71 E:> The larger number is 66 @

* D
Exercise | Draw O on the larger number. Good/
@ @

67 68 34 /8
The larger number is 67 68 The larger number is 84 78
@ ______________________________________________________ @ .......................................................
/1 33 69 75
The larger number is 71 83 The larger number is 69 75
@ ______________________________________________________ @ _______________________________________________________
112 94 106 110
The larger number is 112 94 The larger number is 106 110|
@ ______________________________________________________ _______________________________________________________

Thel

77 65

arger number is

103

386

The larger number is 103 86
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e )
Example| Draw O on the smaller number.
63 /1 63 /1 |
[
The smaller number is 63 71 E:> The smaller number is 71
: W
Exercise | Draw O on the smaller number. Good/
@® @
65 66 74 63
The smaller number is 65 66 The smaller number is 74 68
@ ______________________________________________________ @ _______________________________________________________
101 96 /79 35
The smaller number is 101 96| The smaller number is 79 85
@ ______________________________________________________ @ _______________________________________________________
92 33 110 116
The smaller number is 92 88 The smaller number is 110 116
@ ______________________________________________________ _______________________________________________________

74

63

The smaller number is 74 68

96

89

The smaller number is 96 89
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4 N
Example| Fill in the missing number.
71 72 Q 74 75 76 77 78 79 80
| | I | I | I | L3
4 5 / Good/!
71 72 |75| 74 75 76 77 78 79 80
I | | | | I | I | L3
- J
Exercise | Fill in the missing number.
71 72 73 74 75 76 Q 78 79 80
@ 1 | | | | I I | Ly
81 82 83 Q 8 8 87 838 89 90
@ I | | | I | I | I >
91 92 93 94 95 96 97 98 C]mo
3 1 | | I | I | I Ly
100 101 102 103105 106 107 108 109
@ I | | I I | I | I >
110[3112 113 114 115 116 117 118 119
® __ | | | I | I | I |

Ly



T13_S04

/

~N
Example Fill in the missing number.
|||||I||||||||||||||||||| |||||||||I|||||
I /@Gmdﬂ
OG ’ 85 90 100
|||I||||||||||||||||||| |||||||||I||||| y
Exercise | Fill in the missing number.
60 70 80 90 100
@ |||||I|||||||||||||||||||I|||||||||I|||||’
50 60 70 80 90
@ AN NEEE |||||||||I|||||||||I|||||:
70 80 90 100 110
©) |||||I|||||||||||||||||||||||||||||I|||||:
60 70 80 90 100
@ |||||I|\|||||||||||||||||||||||||||I|||||>
80 90 100 110 120
® L g b biaaad ||||||||I|||||:
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1) D is 6 more than 62.

think it using number line.

Z)C] is 4 more than 84.

57 58 59 60 61 62 63 64 65 66 67 68 69
I I >

8|3 8|4 8|5 8|6 8|7 8|8 89

3) D is 4 more than 98.

4) D is 2 more than 109.

9|7 9|8 9|9 l(I)O 1(|)1 1(|)2 1(|)3 104 105

~
7

1(|)5 1(|)6 1(|)7 1(|)8 1(|)9 1Z|l0 1|11 1Z|l2 1:|l3 114 115

~
7

5) D is 6 more than 91.

6) D is 7 more than 91.

86 87 88 89 90 91 92 93 94 95 96 97 98
I I I >

8|5 8|6 8|7 8|8 8|9 9|0 9|1 9|2 9|3 9|4 9|5 9|6 97 98 99

N
el

7) D is 4 more than 77.

8) D is 8 more than 74.

74 75 76 77 78 79 80 81 82

73 74 75 76 77 78 79 80 81 8|2 83

| | | | | | | | LS I [ I AR O N
. 7
9) D is 4 more than 115.  10) D is 5 more than 106.
114 115 116 117 118 104 105 106 107 108 109 110 111 112 113 114

119 12|0

N
el

LS
>

4 I
Example | Fill in the missing number. If you don’t know the answer,
think it using number line.
Good/!
1) D is 3 more than 65. |$ 1) I 68 I is 3 more than 65.
62 63 64 65 66 67 68 62 63 64 65 66 67 68
| | | | | | N | | | | | | LS
- J
Exercise | Fill in the missing number. If you don’t know the answer,



T13_S04

4 I
Example | Fill in the missing number. If you don’t know the answer,
think it using number line.
Good/!
1) D is 3 less than 96. |$ is 3 less than 96.
97 98 92 93 94 95 96 97 98
| | | | | | N | | | | | | N
- J
Exercise | Fill in the missing number. If you don’t know the answer,

1) D is 7 less than 89.

think it using number line.

2) D is 4 less than 96.

8|1 8|2 8|3 8|4 8|5 8|6 8|7 8|8 8|9 9|O 9|1 9|2 9|3

N
7z

92 93 94 95 9
| | | | | |

3) D is 1 less than 114.

4) D is 5 less than 79.

110 111 112 113 114 115 116 117 118
| | | | | | |

~
7

7|3 7|4 7|5 7|6 7|7 7|8 7|9 8|0 8|1 82 83

~
7

5) D is 6 less than 103.

6) D is 2 less than 111.

97 98 99 100 101 102 103 104 105 106 107 108 109
I

\

l(l)S 1(|J6 1?7 l(|)8 1(|)9 1}0 1|11 1}2 1}3 114 115

N
el

7) D is 3 less than 82.

8) D is 4 less than 92.

85 86 8 87 88 89 90 91 92 93 94 95 96
| |> | | | | | | | | | | >
9) D is 2 less than 71. 10)C] is 8 less than 96.
72 73

67 68
l l l l l l l

v

8|5 8|6 8|7 8|8 8|9 9|0 9|1 9|2 9|3 9|4 9|5 9|6 97 98 99

N
el
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think it using number line.

4 I
Example | Fill in the missing number. If you don’t know the answer, Good/
think it using number line. /

1) 87 is D more than 84. |$ 1) 87 isl 5 I more than 84.
83 84 85 86 87 88 89 83 84 85 86 87 88 89
| | | | | | LS | | | | | | LS

- J
Exercise | Fill in the missing number. If you don’t know the answer,

1) 76 is C]more than 72. 2) 106 is C]more than 104.

7|1 7|2 7|3 7|4 7|5 7|6 7|7 7|8 7|9 80 81

LS
>

103 104 105 106 107 108 109
| | | | | | | >

3)110is [j more than 108. 4) 96 is Dmore than 91.

107

108
| |

109 110 111 112 113
| | | | |

~
7

9|0 9|1 9|2 9|3 9|4 9|5 9|6 9|7 9|8

~
7

5)88is D more than 84. ) 101 is D more than 98.

8|3 8|4 8|5 8|6 8|7 8|8 8|9 9|0 9|1 92 93

IS

7

93 94 95 96 97 98 99 100 101 102 103
N I S S I I>

7) 107 is D more than 102. 8) 87 is Dmore than 81.

1fIJ1 1(|)2 1(|)3 1?4 1C|)5 1(|')6 1C|)7 1?8 109

IS
7z

80 81 82 83 84 85 86 87 83 89 90
IIIIIIIIIII>

9) 94 isC] more than 87. 10) 83 is D more than 77.

8|5 8|6 8|7 8|8 8|9 9|0 9|1 9|2 9|3 9|4 9|5 9|6 97 9|8 99
|

LS
rd

76 77 78 79 80 81 82 83 8485 86 87 88 89 90
S
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think it using number line.

1) 111 is D less than 113.

4 I

Example | Fill in the missing number. If you don’t know the answer,

think it using number line.
C/I Good/

1) 94 is D less than 97. |$ 1) 94 is less than 97.

92 93 94 95 96 97 98

| | | | | | N R M A W A >
- J

Exercise | Fill in the missing number. If you don’t know the answer,

2)114 isC] less than 117.

1(|J8

1|09

l’il.O

12|I.1

12|12

12;.3

114

IS
>

12|I.0 12;.1 12|12 12;.3 12|l4 12|I.5 12|16 117 118

N
el

3)83is D less than 87.

4) 110 isC] less than 112.

78 79 80 81 82 83 84 85 86 87 88
L1 1 1 1 1 1 1 1 I>

107 108 109 110 111 112 113
| | | | | | IS
Tl

5)91is D less than 95.

6) 100 is D less than 104.

86 87 88 89 90 91 92 93 94 95 96
IIIIIIIIIII>

99 100 101 102 103 104 105
l l l l l l I>

7) 78 is D less than 84.

8) 76 isC] less than 83.

7172 7374757677 7879 80 81 82 83 84 85
A Y Y O K

7

7071727374 75767778 79 80 81 82 83 84
A ) I I O G

7z

9)81is D less than 87.

10) 88 is D less than 92.

77 78 79 80 81 82 83 84 85 86 87 88 89 91 92
S S Y

84 85 86 87 8 89 90 91 92 93 94
A I I I I>
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4 )

Example| Write the answer in the
{80
a (@ Good/
\. J

Exercise | Fill in the missing number.

The number which is made of 8

(1 The number which is made of 9| 10

is D .
@2 The number which is made of 11| 10 l[is D .
is D .
—

@ The number which is made of 8| 10

@ The number which is made of 12| 10 l[is

®) The number which is made of 10| 10 |is

® The number which is made of 11| 10 l[is




T13_S04

‘\\
Example| Fill in the missing number. ‘/
is |3 I .
| P
\

Exercise | Fill in the missing number.

(D The number which is made of 8| 10 land 7 | 1 | is D

2 The number which is made of 9| 10 |and 9

The number which is made of 9| 10 |and 5

[

BE

@ The number which is made of 10| 10 |and 4 | 1| is

@ The number which is made of 11| 10 [and 5

[
n

® The number which is made of 9| 10 |and 8| 1] is

® The number which is made of 8| 10 [and 0| 1 | is




T13_S04

- A\
Example| Fill in the missing number.

The number which is made of@ 10 |is 60. (@

Good/

[(LLLLCELTL

N J

Exercise l Fill in the missing number.

(@) The number which is made of

10 | is 80.

(2 The number which is made of D 10 | is 110.

"\
@ The number which is made of 10 | is 90.
"/
)
@ The number which is made of 10 | is 120.
"/
®) The number which is made ofD 10 | is 80.
® The number which is made ofD 10 | is 100.



T13_S04

-

Example| Fill in the missing number.

The number which is made of-
i Good/

Exercise l Fill in the missing number.

(1 The number which is made of D

o

@ The number which is made of

1 |is43.

and

@ The number which is made of

1 |is6l.

10 |and

@ The number which is made of

" S
—/ —/
— —
"/ e/
—
®) The number which is made of 10 andl 1 |is 55.
—/
[:
—/

10 |and 1 [is 79.

® The number which is made of




Q). [T13-505_

h” means

oy n
[x],

s|@], “t” means

Example| Write the answer in the

-

30+ |50

__________

ﬁ@‘” +Bo]=( |

,,,,,,,,,,

,,,,,,,,,,

ﬁ@36+60=[_]

[EEEEREREED H

@20 |4+|70

®10|+[80

@10+100=—]@64+30=[_]

,,,,,,,,,,




tai,w.

_________

@19+80=[_] e [_]

k=]
ITTTTTTTT m "

+1o=[_]

,,,,,,,,

=—]4o+4o=m

@ 10|+ 101

“‘1 =
® 30|+ |63 |= I @100




T13_S05

Example

30

+

Exercise

@ 50|+

30

Gnoo|+

10

40

o0

Q

N

o
+ + +

© 20

100

60

o0

60

Write the answer in the .
o0 |= |80| @ Good/!

Write the answer in the

: @24+7o=:
) e[@3)+[@0]=[
: o[40]+[51 =:
) e[70)+[F8]=(
) We3]+[zo]=( |

+

] e[25)+[70)=[ ]
) {@oJ+[e5]=( |
_

® 40|+ |52 |=




“o” means@, “t” means, “h” means @
\

/
Example| Write the answer in the : 5
p ~ g ; Good/!
t 0 L 0
O ". - o
\ \ add Taauns )
Exercise | Write the answer in the




T13_S05

in the

swer

281 +8=[_:. o[toe+[3]=[ |

Exercise | Write the an

o | Of .

®[1 +114=[:] 2+1o7=C]

® 8|+ 91




T13_S05

Example

388

Write the answer in the

.

+ = Good/
Exercise | Write the answer in the
o[86]+[= | e[B2]+[El=[
@95+3=: @115+4=:
s[7] Hiol) =( | e[2+[e6]=(
o[@+f1a=( | e[@+fo7=(
o[03]+[2]=( | «[B6]+[2]=
o[84]+[2)=( | wfog+@Bl=
o1 +Hiigl 5 ] «[6] HeT =
s[7)+ho1)=( | «[B+[ea]=(




Q). [T13-505_

h” means

“"
[x],

Co=(]
=

EEEEEEEE] A B
.

.........................

eans|[@], “t” means

Example| Write the answer in the

I
(ol
= :
|

.................

.................................

t
90 |—(40

® [120|— |20
® [110/— |10

/




201

A/

- .

Ly .

: :

« O o
p— ) PR——— psssnnnrr3 | IFE e T I St i
e ||| O T ™ I ™~ oy fansetassey
4 | T m \SEEERREEES] + | T LTI T
T m 9 I 8 D 8 T T
hESEREEEES i T oo (|2 || | T 1
annnannn s : T o (amssnnsnun) R emmmmmnnns)

—————/:
: N—/ S — S—

lensnennnn; Oy 5

“““““““““““““““““““““““““““
peessIiiiiiiin H prmmemeeeeeees A O ey | )| | T

Exercise | Write the answer in the )
@90 |—|60 =| 88




T13_S05

Example

Write the answer in the

90 | — | 80 |= Good
Exercise | Write the answer in the )
s[90]-[30]=( | o[Ba]—-[20]=[
sfiz0—-[20]= ) ef1e—[1ol=
sfiig—[Tol=( | e[e2]-[30]=[
o[90]-[T0l= | o[83]—[20]=[
o[80]—-[40]=( ] w[@6]-[40]=[
o[80]—-[T0]=( ) w[88]—[40]=(
s[70]-[60]=( | whiz7)-[0)=[
sfiz0—[T0]=( ] w[ge]-[zo]=(




“o” means@, “t” means, “h” means @

(¢ )
Example| Write the answer in the : 5
( ) Good/!
t 0 reeeee, subtract
; ::?‘ ...A
E
N\ o J

Exercise | Write the answer in the

vo5]-[= | zfitg-[6l=( )

subtract h t i o | subtract
.

T4

subtract

h t | o | subtract h tio
- Il.4 ‘: ""ﬂ

] ]




_____________________

_________

seal-[@= |

___________________

=| I 83— |3 =| I
subtract

3— |2

T TITTTTT1T | O

xercise | Write the answer in the

__________

__________

@96—5=[_]108—7=D




T13_S05

Example

Write the answer in the

89 - 3 = Good/
Exercise | Write the answer in the
v[86]-[2]= | 2[97 =
sfios]—[3]=( ] ®[ios =
5 [85]|—[1 =: ©[99 =:
2[95]—[4]=[ | efoz =
@118—7=: w14 =:
o[86]—[6]=( | «[oa =
sfiol]—[1]=( | «[97 =
w[08]-[{]=( | ®[i3 =




“t” means [X], “h” means [Q].

( )

Let’s add big numbers.

There are numbers of
23 + 1 5 both “t” and “0”.
) b0

Because

3+5=8,

the number

ow_n

of “0” is 8.




“t” means [X], “h” means [Q].

T14_S01

~

Next, add the numbers of “t”.

~ 23 + 15

We add each of
the numbers of
lltll and ”O”_

J/

t {o t (o
: Because
2+1=3
the numbers of
: “t” is 3.
t {o t 0
| @ add 1

38"

(LLLLLLLLLD |~
LILILLILD | ©




ns [X], “h” mea

Example| Write the answer in the
23+ 15 = @3 coods
: 5

Exercise | Write the answer in the




........................




“t” means [X], “h” means[Q].

T14_502

N

//

Let me show you a new method of addition. Let’s write the numbers vertically.

—

23+15

t

When we write the
addition vertically, it
is easy to recognize
which numbers

should be added.

23
+15

3

24

S
S0

2

5

We add the numbers of “t” and “0” respectively.

23415

Jlo

|~

(LLLLLLLLLD
LLLLLL LD

The “0”is 3+ 5
andthe “t”is 2+ 1.

-ﬁ\lll\l\l\h

L

y

00 01 O -

2
+ 1
3

Good/

(LLLLLLIITD «§

(LLLLITTTTN

LLLLLL LD




“t” means [X], “h” means[Q].

( )

Let’s calculate 2 3 + 4. Where should we write 4?

— 23+4

t (o) t o)

23 1 .
+ ;

4 does not have anything

at the “t”.

We write 4 at the “0”.

We right addition align to the right.

23+4 2314
t =

23
A

_I_

Good/

_I_

S \GLLLLLS 4 b LLLLLL \:----

% We can just add the “t” and “0” respectively.




T14_502

Example| Tick the correct answer.
32+4
52 32
+ 4 + 4
72 36|,
() (V7 £ e
© 61+3  ®(2+35” \
61| 61 2 2
+ 3|+ 3 + 35|+ 35
6 L) 91| 55] 37
. J tJ tJ
@ 50+24 ) . @42+30 - .
5/ 50| 42| 42
+2 L+ 24| £330+ 3
29 74 [ 72 45
) ) CJ




“t” means [X], “h” means[Q].

T14_502

Example| Write the answer in the
23+15 23+15
[eTo J[tle] eTo J[tTe
23l 23]l
+ 1 5 | + 1. 5|
L2 —~) VvV V
{2 (3 8] oon
Exercise | Write the answer in the
®12+24 @21+34
[t o] t o [t o ]| t o
12 | |, 21| |
+2ial| 3 Il +sa] 1
]TT ]TV
®@32+16 @62+5
s2) |1l ez | 1l
+16| | JiJ + s i
] \Z v ] v v




T14_502

Exercise | Write the answer in the
®18+50 ©®61+23
AEEH [ IR |
+so | ML) +23 1] .
v v v v
@75+12 ®21+8
[t o] t o [t o] t o
75 | 111 1g 21| 11 |
+12| B[ i
\ v v \Z
®56+20 ®25+13
Ltio] t 0 Ltio] t o
se | M |l]] 28] 11 |3
+20| Il J] +1 nn
] 3\ v ] v \Z




T14_502

Exercise | Write the answer in the

®60+34 @32+27
6 0 ﬂ%ﬂ 32 f,
+34 ﬂi A +27 E
vV — vV

®42+45 2+65
42 Hﬂ ﬁ 2 ﬁ
+45 %ﬂ o +es |l
v \Z

®18+41 ®31+27
Ltio] t 0 Ltio] o
18| | | 3 1 ﬁ
+a1| ] J +27 ;
v I ¥

BN Bl




T14_502

Exercise | Write the answer in the
@®70+15 33+6
[tio | t 0| [tio] t o
7 0| 111 <SENHE
+15| | || + 6 :
v ¥ ¥
[
®71+16 @27 +41
[t o] t 0| [t o] t o
AR 0 e I I
+1e| | g +a
I — ¥ v
[
©62+14 @ 7+21
[tio] t L' [tio t o
62| {1111 . 7 ]
+1a| |l w21 1
| v — ¥ ¥




“t” means [X], “h” means[Q].

T14_502

~N

Example | Write the answer in the .
23+15 23+15
23 2 3
+1 5 + 1 5@3
5 8 Good/ )
Exercise | Write the answer in the
®16+21 @154+32 ®20+53 @®33+51
16 15 20 3:3
+i2 1 +:3:2 +:5:3 +:5:1
® 42+6 ©® 4+23 @37+50 ®24+43
42 4 37 214
+:. 6 +:2 3 +:5:0 +i4:3




Exercise | Write the answer in the

@15+71 © 2456 ©®38+4+31 ©®75+4+14

(Lo o] K o]
15 2 38 75
+71 +56 +31 +14

) ) ) )

®22+35 ®80+13 ®26+52 ®15+34

2.2 80 2 6 1:5
+ 35 + 1.3 +5 2 + 34

) )

®62+35 ®17+41 424+6 ®@12+4+55

To] K o] [+ To |
7 4

6:2 1 2 1:2
+ 35 + 4 1 + 6 + 55
) ) )

@ 3+51 @294+60 ®28+41 ®28+70

8 2
5

29 2 8
+51 +60 +41 +70




“t” means [X], “h” means[Q].

T14_502

Example | Write the answer in the

23+15

N

23+15

] > zlEH Good/!
+1 5 +15 -5
jSig Good/

Exercise | Write the answer in the .
®15+33 @ 5+34 ®23+51 @®18+21
] e
+ 3:3 + 34 + 51 +:2: 1

®26+32 ®45+53 @124+80 ®24+14

2.6 45 12 2 4

+ ) U]

T

+ )




T14_502

Exercise | Write the answer in the

@©@57+21 042424 ©® 41+7 @©@34+53

5 7 4 2 4 1 3 4

W23+35 ®61+34 ®16+22 @®@21+74

Kirs
2.3 6 1 ' '

+22 +74

@11+51 @ 4424 ®52+35 ®38+40

( S 2 3.8

+51 +24 )




“o” means@, “t” means, “h” means @
N\

Example | Solve.

23+15 23+15

t o t ,//‘}
| 23|

Good/!

:’3
H | +H1 5/ C)

2 \‘

38

.

Exercise | Solve.

®51+24 @21+14 ©®18+51 @ 2+36

(: \

®56+30 ® 34+5 @42+24 ®20+75

\ \ \ \




Exercise

Solve.

©®15+34 ®124+24 ©®53+31

T14_502

®32+25
t]o ]

4 | + + +
®47+20 ®63+15 ®18+70 ®23+62
Lelo] [le] o] [+l

+ I I , *
® 4245 ® 6+32 ©63+24 @21+51
[ lo ] Lo ] nm o]
+,—_\ + i\=;=—’_ i\=~=—’.
D174+41 @34424 ® 2642 ®37452
[ o]  [l]  [a]o]

n +H H H




“0” means|@), “t” means[X], “h” means Ql.

N

o_n

Let’s do an addition whose sum of “0” is more than 9.

"28+35 e

8+5=13.

28 1|
35 1|

[ERNREEEN)

[ENEERE NN

_|_

junmes|

We calculate “t” after carrying the 10 of 13 to “t”.

" 28+35

28
35

r——

% “0”is3 of 13 and “t” is the
t

V\ sumof 1+2 + 3.

(LLLLLLLLLD

LLLLLL LI

LI
[ANEEREREE)
|

_I_

(AR

3 e
(LI
\




“t” means [X], “h” means[Q].

N

Let’s calculate 2 8 + 3 5 by vertical method addition.

— 28+35

t (o] by adding “o0”

2 % 8+5=13
+ 3

Weget 8+5=13

The 1 of 13 means that there is one 10,

so we write “1” above the “t”.

We write the 3 of 13 at “o0”.




“t” means [X], “h” means|Q].
e N

The numbers of “t” are 1, 2 and 3. We add these three numbers.

— 28435

We get
t | o 1+2+3=6
1 by adding the “t”.

< 8+5=13

-
.

We write 6 at the

“t” as the answer.

% 8+5=13




Example| Write the answer in the

28+35 28+35

8+5

28
+35 + 3

| (D al 6.3]

Exercise | Write the answer in the .
®19+64 @15+47 @17

1+1+6}1 O 1+1+4%1 5 1+1+3}1 7
_I_ 6 \J 9+4 _I_ 4 \J 5+7 _I_ 3 4 7+4

) ) )

@48+24 ®29+32 ©®59+18

1+4+2%4 o] 1+2+3%2 O 1+5+1%5
+2/4 8+4 4+ 32 9+2 +1 9+8

) )




T14_S03

Exercise | Write the answer in the
@63+19 ®24+38 ©37+55
rori-613] [irershzl4] [14eisb3]7
+1 983+ 43814 +5 517
®48+17 ®26+49 ®16+47
1+at+1~4.8 [1+e+a2 6] [1+1+41 6
+L7 8+7 ig 6+9 +i7 6+7
®35+46 @39+22 ®13+58
1+3+4}3 5 1+3+2}3 ®] 1+1+5%1 3
_I_ 4 g 546 2 L 942 _I_ 5 8 3+8




Exercise | Write the answer in the
® 24+ 39 ®13+28 ®68+17
:£2 ]{4 :£1 ]ls 1+e+1>[6 s
_|_;i9 449 +&8 3+8 +LH8+7
) )
®23+48 ®35+39 ®28+54
1+2+4}[2 ]3 1+3+3}[3 ]5 1+2+5}2 ]8
+4 SL:"’*S +3 s#:g +5 450t
) )

@49+19 ®79+12
1+4+1%4 ﬁ 1+7+1%7 ﬁ
+1;9~°*° ] 4112

145+3 >

—

9+4



T14_S03

.

~N

Example | Write the answer in the .
28+ 35 28+ 35
) = 4
2 8 2 8
+ 3 5 +3 95 .
< 63],,
Exercise | Write the answer in the .
®17+64 ©@25+47 ©®34+17 @®38+43
L L L L
1.7 25 3 4 38
+64 +47 +17 +43
] ) ] )

®28+35 ®19+68 @62+29 ®24+58

_|_

il

2
3

8
S

[

)

_|_

.
6

9
8

[

)

_|_

6
2

2
9

_|_

[

)

2
o)

4
8




Exercise

Write the answer in the

T14_5S03

©394+44 ©@38+57 ®@27+37 @15+29
l L L L
3:9 3:8 2:7 15

+ 44 + 57 + 37 + 29
) ) ) )
®15+67 ®26+45 ®18+67 ®39+24
L L L L
15 2.6 18 3:9

+ 6.7 + 45 +6:7 + 24
) ) ) )
®334+29 ®34+47 ®23+28 @®35+39
l L L L
3:3 3:4 2:3 3:5

+ 29 +4 7 + 28 + 3.9
) ) ) )




T14_5S03

~N

Example| Solve.

28+35

2 8
+ 3 5

281+35

=

8
O

(@+

Good/!

ONWN B©

3

.

Exercise | Solve.

®17+54 @16+45 ®19+34 @68+14

1
1:7

+5 4

1
1

4

6
o

1
1

+ 3

9
4

_|_

1
6

1

8
4

®59+32 ®39+48 @43+29 ®25+36

1
5i9

+:3 2

1
3

+4

1
4

+:2

_|_

1
2

3




T14_S03

Exercise | Solve.

©37+45 @66+17 ®26+38 ®@15+4+49

1 1 1 1
37 6.6 26 15

+4 5 + 1.7 + 3.8 +4 .9

®34+48 ®@27+44 ©19+55 ®54+27

1 1 1 1
3:4 2:7 19 o4

+48| H44| H55| H27

®23+68 ®29+27 ©®26+46 @34+39

1 1 1 1
2:3 29 26 3i4

+.6 8 +2 7 1+ 4 6 + 3 9




“t” means [X], “h” means[Q].

T14_S03

~N

Example | Solve.
28+ 35 28+3
) t | o ) t | o 2/}
o 1 @
28
+ + 3 5 | %"
\_ L 6 5
Exercise | Solve.
®18+54 @19+45 ®@17+34
1 1 1
1 8 1 9 1 7
+ 5 4 + 4 5 + 3 4
@48+13 ®39+32 ®27+48
1 1 1
L 8 33 2 7
+ 41 3 + 5 2 + L 8




Exercise

Solve.

T14_S03

@67+19 ®36+38 ©29+44
— — . — .

6 7 3 6 2 9
+ 4 9 + 3 8 + 4 4
®68+15 ™ 28+35 @25+47

4 1 4

6 8 2 8 2.5
+15 +3 5 + 4 7
®34+58 @27 +55 ®29+63

4 1 4

3 4 2 7 2.9
+ 5 8 + 5 5 + 6 3




Exercise

Solve.

T14_S03

®24+38 @17+48 ®34+17

— | ) |

2 4 1 7 3 4
+ 3 8 + 4 8 + 1 7
®23+59 @ 34+28 @ 38+54

1 1 1

2 3 3 4 3 g
+ 59 + 2 8 + 5 4
@47+27 ®@68+19 @26+45

1 4 1

L 7 6 8 2 6
+ 2 7 + 41 9 + 4 5




T14_504

Example

2613

[

N\

Write the answer in the

4_

5
4

2+8

1+3+1%

1+2+3e
6+4
+ P
gé Good/l
Exercise | Write the answer in the
®12+ @36+14 ®23+37

1+2+3%

3
7 3+7

®19+

446

1+1+3%




@18+32 ®41+

) 0 0

HTHe=] 8 [1hadzeq ] [1424302 5
4 3]2[8+2 42 QR 1+9 +:3 575+5

T14_S04
Exercise | Write the answer in the . -

1+4+2}4 o) 1+4+1%4 3 1+6+1%6
+&4§E:+47*}7 + 1)

+ 5+15
L] L] L]
1+3+1}3 ®) 1+2+4%2 7 1+7+1%7 5
_|_L[9+1 +ig7+3 +L5+5

——
—
—




T14_504

Example | Write the answer in the .
26+34 26434,
o> 127 {3
2 E; 2 ESGm@i
+ 3 4 +3 4| .
Exercise | Write the answer in the .
®52+18 ©@46+24 ©®73+17 @24+26
1 1 1 1
52 46 73 2.4

+18| H24| H17| H26

®39+51 ®27+33 @36+24 ®55+35

1 1 1 1
39 27 36 55

+i5 1 + 3.3 +i2 4 + 35




T14_504

Exercise | Write the answer in the

917443 ®26+34 ©®61+19 ©@49+21
1 1 1 1
17 2 6 6 1 49

+43| H34| H19| H21

®38+32 ®@54+26 ®33+47 ®41+29

1 1 1 1
38 54 33 4 1

1+ 3.2 + 2.6 +4 .7 + 2.9

®64+16 ©®@27+43 ©®39+11 @65+15

1 1 1 1
6 4 2 7 39 65

+16| H43| H11| H15




“t” means [X], “h” means[Q].

T14_504

~N

Example | Solve.
26+34 26+ 3
) t | o ) t | o %//‘*
o 1 @
2 6
+ + 3 4|
\_ L 6 0
Exercise | Solve.
®62+18 @16+54 ®@43+47
1 1 1
6 2 1 6 L 3
+ 1 8 + 5 4 + L 7
@14+ 36 ®49+31 ®17+23
[ t]o | [ t[o | [ t[o |
1 1 1
1 4 b9 1 7
+ 3 6 + 3 41 + 23




Exercise| Solve.

T14_504

®38+32 ®11+29 ©35+35
3 8 11 3 5
+ 3 2 +2 93 +3 5
@W66+14 ®23+37 @54+26
1 1 1
6 6 2.3 5 L
+ 1 4 + 3 7 + 2 6
®69+21 ®37+13 ®25+45
(el ]
= T (3
6 3 3 7 25
+ 2 4 + 41 3 + 4 5




“t” means [X], “h” means[Q].

N

Let’s calculate 2 7+ 4 .

Where should we write 4?

_|_

~ 27+4

t

o

2

-

4 should be at the “0”.

2744

t

2




T14_S05

Example| Tick the correct answer.
2744
1
2 7 2 7
+ 4 + 1
1 2
| | j/I @Good/!
v68+3 2 o+as
- 1 N N N ( 1 6\
6 8|l 6 6
+ 3|+ 3 + 35|+3 5
741 98] 5] 4 4
. J tJ tJ
@ 7+24 @ 3942
- 1 N \ N ( o \
A7 39| 33
+2 L+ 24| +2 |+ 2
34 94 53 41
) ) CJ




T14_S05
N\

Example | Write the answer in the
27+4 27+4 -
B = 1
2 7 2 7 7
+ (@+ L]
cooar | 3 |
Exercise | Write the answer in the .
® 38+4 @ 67+8 ® 45+7 @ 58+3
) ) ) )
38 6.7 45 5.8
+ + )+ +
L) ) L)
® 9433 ® 8+27 @ 9+12 6+48
[=_] @_] . @_]
+33 +27 +12 +48




T14_S05

Exercise | Write the answer in the

©® 36+5 23+9 ® 6+56 @ 8+33

o L L

36 53
n + ] +8356 +33

/_] I — T B
Y, Y

® 4749 27+5 ® 7+66 6+37

) | | U

47 2.7 J _J
+ ) + ] +66 +37

) % N

@ 73+8 65+7 8+29 @ 9+74

) | | )

7 3 65 | ]

9 474

_|_
_|_
_|_
N
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Example | Solve.

27+8 27+8

= 3@5

+ +

U100 ™
Q
:

\. \
N Y,

Exercise | Solve.

® 58+4 @ 17+8 ® 6+37

t o t o t o
( e Ve

@ 7845 ® 9+86 © 47+8
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Exercise | Solve.
@ 22t+9., 4-!—37o ©) 48t+5.,
+ + +
5?:-|—9o @\D 67t+4t ;D 8-t|—46o
+ + +
@\ID 7:-.5:_'_80 ‘I€?+50 @\9 7-t|—44t
+ + +




